
EXERCISE # 1
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Q.5   ABC BC D
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ABC + ACD = 2 ALC 
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Q.9   DP = BQ, DPB = BQD 
 ADP = CBQ 
 ADP CBQ. 
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 BAL = BCA. 
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Q.16 AM  BC  AN  A 
 B = 60º  C = 50º 
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Q.17 AM  BC  AN 

BAC B = 70º 
C = 35º  MAN 
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Q.22 ABCD  X  Y AD 

BC AY = BX 
 BY = AX BAY = ABX. 
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Q.25  PQRS  ( ) 
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(i) PQ + QR + RS + SP > PR + QS 
(ii) PQ + QR + RS + SP < 2 (PR + QS) 

 
Q.26 PQ = PR  S PR 

 RS < QS. 
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Q.27  ABC  AC > AB  D AC 

AB = AD 
 CD < BC. 
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Q.29  AOC + BOD = 70º  COD 
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Q.30  DFP, EDQ  FER   DEF 


   DFP +  EDQ +  FER = 360º 
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Q.31 AB = AC = AD 
BCD = 90º 
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Q.32  AD = CF, AB = DE 
BAC = EDF 
ABC DEF.  
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Q.33 120º 
35º

ANSWER KEY
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A.  : 
1. 30º, 60º, 90º  7. 50º, 60º, 70º 8. 360º 9. 130º
 

B.  : 
16. 5º 17. 17.5º 18. 120º
 

C.  : 
29. 110º 33. 85º, 60º

EXERCISE # 2
  
Q.1 5 : 4 : 3 

 ? 
Q.2 BAC, ACD 

 ? 

 

A

B C D30°65° 65° 

Q.3  - 
(A) BC < CA < CD (B) BC < CA > CD 
(C) BC = CA > CD (D) BC > CA = CD 

 
Q.4 AB || CD  PQD = 135º 

APE 
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Q.5 B = ACB = 65º 
D = 30º  - 
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B C D 
(A) BC > CA > CD  
(B) AB = CA < CD 
(C) BC < CA, CA > CD 
(D) BC > CA, CA < CD 

Q.6 ABCD  ( )  AB = AD 
BC = CD 
ABC 
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Q.7  PQ || TU || SR 
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(A) 1 + 2 = 3 + 4 
(B) 1 + 2 = 5 + 6 
(C) 1 + 3 = 2 + 4 
(D) All are ture 



Q.8 AB || CD, CD || EF 
y : z = 4 : 5  x 
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Q.9  BC = CE  1 = 2 
  GCB   DCE.   
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Q.11  AC = AE, AB = AD  
  BAD = EAC  BC = DE. 
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Q.15 TQ  TR  Q  R 
 QPR = 80º 

PRT = 30º  TQR 
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 Q.16  AB = CF, EF = BD 

AEF = DBC 
AFE ~  CBD  
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ANSWER KEY
1. 12 : 15 : 20 2. 50º, 115° 3. BC < CA < CD 4. 45º
5. AB = CA < CD  6.ADC 7. 1 + 2 = 3 + 4 8. 100º
12. MN 15. 20°




